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QUESTION 1

A financial services company plans to move its existing CRM system into the cloud. The current system hosts 50 million
customers. Which of the following steps should be done FIRST for moving this application into the cloud? 

A. Perform security testing of the application to ensure that there are no new security vulnerabilities being introduced. 

B. Perform testing to confirm that all the customer data can be mapped/migrated during the allocated change window. 

C. Communicate with customers that they will be moving to a new CRM system which will be hosted in the cloud. 

D. Perform a physical site assessment on where the application is hosted to ensure adequate controls are in place. 

Correct Answer: A 

 

QUESTION 2

When an organization moves to a cloud service for IaaS the cost model changes. Which of the following illustrates that
cost model? 

A. Move from an ongoing OPEX model for infrastructure to an ongoing service charge for the life of the infrastructure 

B. Move from a depreciation model of infrastructure to a leasing model of infrastructure with bundled support and
maintenance. 

C. Move from a CAPEX model for infrastructure to an ongoing OPEX charge with bundled support and ongoing
maintenance. 

D. Move from an OPEX model for infrastructure to an ongoing CAPEX charge with bundled support and ongoing
maintenance. 

Correct Answer: C 

 

QUESTION 3

A company uses an IaaS cloud deployment model with a third-party vendor. Which of the following does the company
fully control? (Choose two.) 

A. Operating systems 

B. Physical servers 

C. Service availability 

D. Physical security 

E. Storage 

Correct Answer: AE 
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QUESTION 4

A scalability regularly doubles the number of employees over the summer by hiring on temporary staff. The company
currently pays the same price every month for its email software, equal to the maximum number of employees on staff
who have email addresses. The company would like to only pay for the number of active email addresses and is
considering migrating to a cloud solution. Which of the following characteristics of cloud computing is the MOST
beneficial reason the company should implement a cloud solution? 

A. Scalability 

B. Hardware independence 

C. Variable costs 

D. Security 

Correct Answer: C 

 

QUESTION 5

One major impact that cloud computing has had on the application development process is the need for greater: 

A. security. 

B. speed. 

C. isolation. 

D. standardization 

Correct Answer: B 
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